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Section A: Multiple Choice Questions (@1, total 10 marks)
     1. Which of the following is the problem of a barter system?

     A. The traders must accept the exchange of goods or services.

     B. It is difficult to find someone to trade.
     C. There is no goods for exchange.

     D. The exchange may not be fair.

Level of difficulty: *

     1. Which of the following is not a good description of money?

     A. An indication of wealth.

     B. A unit of account.

     C. A store of value.

     D. A medium of exchange in transactions.

Level of difficulty: *

     1. Which of the following is responsible for governing the issue of bank notes in Hong Kong?

     A. Central Bank.

     B. Hong Kong Monetary Authority.

     C. Hong Kong Government.

     D. Hong Kong Stock Exchange.

Level of difficulty: **

     1. Which of the following is not the issuing bank for Hong Kong bank notes?

     A. Hong Kong and Shanghai Banking Corporation Limited.

     B. Standard Chartered Bank.
     C. Citibank.

     D. Bank of China (Hong Kong) Limited.

Level of difficulty: *

     1. Which of the following is not a party involved in a cheque?

     A. Drawer.

     B. Drawee.

     C. Payee.

     D. Buyer.

Level of difficulty: **

     1. Which of the following is not an electronic money?

     A. Octopus card.

     B. Cheque.

     C. Electronic payment services.

     D. Paypal.

Level of difficulty: *

     1. Which of the following is not the benefit of using credit card?

     A. Convenient.

     B. Low interest.

     C. Earning of reward points.

     D. Credit period.

Level of difficulty: *

     1. The dollar sign for Great British Pound is:

     A. £.

     B. ¥.

     C. €.

     D. ₩
Level of difficulty: *

     1. How much Japanese Yen does HKD100,000 equal to at an exchange rate: Yen10,000: HKD722?

     A. 139 Yen

     B. 138,504 Yen

     C. 722,000 Yen

     D. 1,385,042 Yen.

Level of difficulty: ***

     1. Which of the following situations will lead to a loss in foreign exchange?

     A. An investment in AUD when AUD keeps rise.

     B. Travel to Japan when JPY drops.
     C. Buy goods in RMB when RMB rises.

     D. Sell goods in RMB when RMB rises.

Level of difficulty: ***

Section B: Short Questions (20 marks)

**

     1. 

How can money solve the problems of the barter system? 

(8 marks)

**

     1. 

List four types of retail business in Hong Kong that accept octopus card for payment. 

(4 marks)

***

     1. 

Translate the following foreign currencies into HKD by using the exchange rate given below.

 (8 marks)

Suggested Solutions
Section A: MCQs
     1. B

     2. A

     3. B

     4. C

     5. D

     6. B

     7. B

     8. A

     9. D

     10. C

Section B: Short Questions.

Question 1
Money can be used as a store of value that allows people to transfer purchasing power from present to future because we can save the money for future use.

A barter does not allow people to do so when the goods are perishable.

Money can avoid the problems of coincidence of wants arising from barter because it can be used as a medium of exchange for buying goods and services.

Money allows greater specialization and trade and productive efficiency because it is not necessary for you to find someone with coincidence of wants. 

(@2, total 8 marks)

Question 2
Four types of retail business in Hong Kong that accept octopus card for payment include:
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